
Quick crossword� No 13,221
Across

  1	 Inadequate consolation 
(on a farm?) (4,7)

  9	Modest accommodation 
(9)

10	Expected (3)
11	 Sidled (5)
13	 Section (anag) (7)
14	Taiwanese capital (6)
15	 Flow — proposal (6)
18	Nonsense (informal) (7)
20	Last (5)
21	 Bring charges against — girl 

(3)
22	 Damage the reputation of 

(9)
24	Glorious (11)

Down
  2	 At an early stage — at a late 

stage (3)
  3	 Girl of Irish myth — rid 

deer (anag) (7)
  4	Hydrocarbon found in 

petrol — at once (anag) (6)
  5	 Rifts (anag) (5)
  6	Decrease (9)
  7	 Bunking off work (11)
  8	Celebrity (11)

12	 Arthur’s wife (and 
Lancelot’s lover?) (9)

16	Made available (7)
17	 Sexually virtuous (6)
19	Ring true (3,2)
23	Greyish brown (3)
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Solution no 13,220
M E N A C E S I A A
E O H C O N V I C T
C U R S O R Y C R R
C S R T R O U B L E
A R E T E H N A S

O O V E R S I G H T
T G P U

M A H A R I S H I N
O A A A C A D G E
W H I P P E T U R V
E R H I S O L A T E
R E D D E E R U M R
S O R E C S T A S Y


